Multiplication/Division des Sénaires (D)
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Calculez chaque réponse.
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Multiplication/Division des Sénaires (D) Réponses

23134
X 254

1111134

410212444
52126

14334
X bg
124534

1114044224
30426

1535134(21¢
5213,

Calculez chaque réponse.

1530154|31¢
3345

40134
X 45

313113

25454
X 23g

1123034

31204
X 30g

1340004

445504]10g
4455

45204
X B4g

4341204

5233
X 516

440203

5030¢
X 306

2313004

1101104514
12104

10024
X 10g

100204

45306
X bg
403304

3354
X 10g

3350¢

1441444|224
43324

35105242
5204

130544¢|24¢
3234,

MathsLibres.com




